==
H £ 0Ol & A E Al A
20009 = =04t dete|H HIHXE= ~ HHXNE=
A= BINA= EE-E B
Z2: AIZS DI - AF(LBBIUE/LBE)
Sl AIE U FHEpe (ol @)
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
HEXEA= 88,173,630 85,089,536 3,084,094
= 133,230
= 178,540
Al 87,861,860
ek NIy 12,164,608 8,676,365 3,488,243
= 120,000
Al 12,044,608
AZO I8 - ZF (LSS DY /UBHEE) 890,660 1,001,357 A 110,697
ANE & EHEae 409,573 573,467 A 163,894
AMEAR 2 AFAIE 22 151,183 245,467 ANO94,284
201 Zet23d] 151,183 241,467 290,284
01 AtSZeltl 151,183 240,967 A89,784
Oget==&H| 149,083
oL EAl CI 24| 100,000,000& = 14| 100,000
©2009 AIESE 2Tl
8,000& * 1,500% 12,000
oFQYURAIAAE 2AM QI
20,000& = 150% 3,000
22009 HEHAIZ Q14 3,000& » 1,000% 3,000
cANEEEE S5 A 500& = 3,0000H 1,500
oYURENE LA S ME
3,000,000& * 14 3,000
©2009 FRYF =J1HE MA
20,000& = 150% 3,000
oAl AIZE20AM 2144 10,783,000& * 14 10,783
CHEMPZTAIZ DA I
25,0008 = 3128 7,800
o=ZotA THOIS &IH 5,000,000& * 14! 5,000
Oo=2d+g 2,100
SO HHIAOIRE BAELY
0,000& = 10¥ = 32 2,100
XSG &2 240,000 305,400 A65,400
207 IR 100,000 200,000 A 100,000
01 A2EAH] 100,000 200,000 A 100,000
OXSA o FaHY S
100,000,000 = 14! 100,000
307 21201 140,000 100,000 40,000
02 QIZtBAE XL 140,000 100,000 40,000
OXggdt 224l X
120,000,000& * 14 120,000
ot gr=n 20,000,000 * 14! 20,000
ANE 2 HH ALY 2823l 18,390 17,600 790
202 O4Hl 13,390 12,600 790




AR BHTAR SN |2
H: AIZO| JIE - I (LBBIHT/ABHT)
ool AR ¥ ZEEe (=E R L
- — Pl
AR 2A - HH . O(3) - MRAY - BE= Ofl &k 2 St HREs2
IETET 13,390 12,600 790
OJI=Y=L ot 140,008 * 58 + 122 8,400
OZXNL AR Kyl 4,990,000& * 14 4,990
203 ZRF=&H] 5,000 5,000 0
03 AIZZEZIAREFY] 5,000 5,000 0
OZ&IIZ o HMB2| 5,000,002 * 14 5,000
NSSEMHAH RS 370,750 325,840 44,910
N4l 2dst 13,050 23,800 A 10,750
201 223 4,100 3,400 700
01 AtR2elt| 4,100 3,400 700
Oget==&H| 2,000
oREUM 2012 ME 2,000,008 * 14 2,000
oRgsy 2,100
SN HEAB O3 3|0 &M aLt
0,000& * 30 = 13 2,100
301 LEEAZ3 1,450 2,900 A 1,450
10 AR HIZ A= 1,450 2,900 A1,450
OXIAS MBS &I} 145,008 * 58 » 23] 1,450
306 £ 7,500 7,500 0
01 £33 7,500 7,500 0
OFXNFEUEME &=HZ  7,500,000& 14! 7,500
PSIE =W ESIE:P] 351,400 294,900 56,500
201 QB2 6,950 0,000 3,050
01 Al 2|Y| 6,950 10,000 3,050
o2gsy 6,950
o MIIES DISIRI| N2 MAIEI}
6,950,000 » 14 6,950
301 YPBA 4,450 14,900 210,450
10 AR HIZ A= 4,450 14,900 210,450
OOKZ8ISI| MOILt &I}
145,000& * 52 23] 1,450
OF AJIE2 0r201RI| #XI01
3,000,000& * 14 3,000
307 2I2H0IH 50,000 50,000 0
02 DIANANBE 50,000 0 50,000
OUISUSIIXAME 2
50,000,000& * 14 50,000
402 QI2HAHEO|H 290,000 220,000 70,000
01 QIZIGEE X 290,000 220,000 70,000




A= A= SN - I
Mz A|HO D& - ZH(YUHE DA /UBIHA)
&2l NG A A RS CERED
_ _ _ AN
AT .2 FHH . O (3) - MBEAIY - BAS Ofl &t o om‘@o% Hm=2
OF A|IE2 OISO RIIAY
20,000,000& * 12JH0I= 240,000
OFEAIIE20I2I137I| =024 A
50,000,000 = 14! 50,000
KNASHAMHAHAPREAIE 22 AHH| 6,300 7,140 A840
202 044l 6,300 7,140 A840
01 2WAHbI 6,300 7,140 A 840
OngedEA2 Y] 140,000 * 3™ * 153 6,300
AMAIED & S8 SH 22 110,337 102,050 8,287
AMNSH SHETA 74,847 73,160 1,687
101 12| 17,900 71,400 253,500
10 JI2tHIZ2Z2XsEE 4 17,900 71,400 253,500
OMYHMESHZA J12tH 22X B2 17,900
o A2 KH 42 6602 * 102 » 19 8,106
oY U YRBE
40,750& « 1294 = 19Y 9,291
oHEZ(LNE A &) 503,000& * 14! 503
201 LB AY| 56,947 1,760 55,187
01 AFR2t2ld| 56,947 1,760 55,187
OgBt==H| 56,947
oD EAR 29H|
42 660R * 563 * 232 54,947
CEBHA O MAIRE HEHH
2,000,000& * 14! 2,000
HotHE & OIXSK 89 7,700 2,400 5,300
201 BrEdH| 1,700 2,400 AT700
01 AFR2t2|d| 1,700 2,400 AT700
OgBr=2Y| 1,000
oHMOIBEMESA DIEE 10,000& = 100& 1,000
OI=-E=y 700
O MICHMAIRI RS EHAE
70,000& * 5¥ x 23] 700
301 eI A= 3,000 0 3,000
12 JIEIE A2 3,000 0 3,000
OAlBl Hiet 3,000,000& = 14! 3,000
303 EAZ 3,000 0 3,000
01 ZA2 3,000 0 3,000
O2F& Het 3,000,000& = {14! 3,000
FRAED AAIED} 11,310 6,600 4,710
201 LB AH| 11,310 6,600 4,710




M= HINAR -l
H: AIZO| IS - I (LU TTHT/ABHT)
Sel: AAHEDH 2 52X sH22 (=EC R
= - — Al L=
.24 HB - G9(S) - ARAY - BES ofl &t e HIDE2
01 AtR2t2|bl 11,310 6,600 4,710
Oge==2H| 9,000
CEQADWOIIP DA 214
15,0008 * 2005 * 32 9,000
O=2g=¢ 2,310
oZQULBIIPIRS 5lol4g
70,0003 *~ 11 * 33 2,310
dESHHE HMH 10,600 14,250 A3,650
201 &er=gHl 10,600 14,250 A3,650
01 AtR2teiH| 10,000 13,750 A3,750
Oget==2H| 10,000
oSHHE &2t 20,0003 * 2502 5,000
oL HIM A &2t 12,5008 * 400% 5,000
02 33234l 600 500 100
O352= ¥ HAl 600
CRESUSH(SHAL) 3,0008 » 2009 600
AAMEIL H SEN SHZC 2EdYl 5,880 5,640 240
202 O4Hl 5,880 5,640 240
01 =WHHI 5,880 5,640 240
OHAISHYR 0otl 5,880,000 * 14 5,880
AWM 2L (LSS /XNLHE - WEXY) 1,282,946 512,120 770,826
=28 H3=29g 1,282,946 512,120 770,826
EHESE Hatz2a 1,155,000 395,000 760,000
201 LBty 70,000 50,000 20,000
01 AtR2tc|bl 70,000 50,000 20,000
OJASSES ATl
70,000,000 * 14 70,000
202 OH| 60,000 60,000 0
01 =LHoHI 60,000 60,000 0
OIBBERSY YRS oY
60,000,000 * 14| 60,000
301 get2a= 50,000 45,000 5,000
10 YAIMBIE S = 50,000 45,000 5,000
OJI2AESS=2E A2
50,000,000 * 14 50,000
307 212told 135,000 40,000 95,000
03 AtRlEHHEXS 35,000 40,000 25,000
OJASSES M2l A&
35,000,000 * 14 35,000
04 QIZHHALE X 100,000 0 100,000




A= BHNR SN ZE|ED
Hu: AWYYSY (LSBT NYBE - )
ool 58X HESY EERE]
- _ - &4
AERE ZRE-ERI=CICE DR EINRE:RoE Ofl &t 24 St HImE2
O ASSE2E QHAE X
100,000,000 * 14| 100,000
401 A EHIL LY 840,000 200,000 640,000
01 Al&Hl 840,000 200,000 640,000
OJ2AESS2E 22FU=2AA
840,000,000& * 14 840,000
M2 72,400 68,100 4,300
201 Ler=a| 72,400 68,100 4,300
01 At 2tc|bl 72,400 68,100 4,300
Oggt===t| 62,200
ollatEyd JI2XE HI 15,0008 * 1502 2,250
oG E0AA 1) 25,000,000 * 14| 25,000
o0t oIy 15,000,000 = 14 15,000
oSIINYME & ESTYA B
15,0003 * 300% 4,500
SKSTHESAl 2Xt 15,0008 = 1005 1,500
ollatEd =g 15,000 * 150% 2,250
cME=2g ML 20,0002 * 1502 3,000
cNEME 88 =ol= A
3,000& * 1,000 3,000
oMBHHELS B} 60,0008 * 50% 3,000
oEXz YREY UM 18,0003 * 150% 2,700
O=2g=¢ 10,200
STEHAISRS] BALY
70,0002 * 108 = 43 2,800
OMNBISHSEIACIRNG Fasy
70,0002 * 10¥ * 23 1,400
OTHBHE MRS MASY
300,000 = 108 * 27 6,000
ANSHIAAE 2t 36,266 31,420 4,846
403 XHXIHMSA=01H 36,266 15,420 20,846
02 S| 2SOItHe A& I 36,266 15,420 20,846
OXNgHESEmB= 20,732,0008 * 14| 20,732
OXgME2eANASE FXE=
15,534,000 = 14 15,534
228 NI2SAMY 233l 19,280 17,600 1,680
202 O4dl 14,280 12,600 1,680
01 =WHHI 14,280 12,600 1,680
O ssHY 0l
140,000& » 6¥ * 17 14,280
203 g4 5,000 5,000 0
03 AIBFXY =AY 5,000 5,000 0




A2 HEIA2 SN HH)|E D
HM: AMNESY (U2 DHE /LN - HEAL)
c¢el: 58X Hy2Y (9 &
- _ _ AN
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
| | | N EEENEES 5,000,000 * 14! 5,000
LEWE 2 DEEX 2% (DS/RULEESDS) 4,409,046 2,558,120 1,850,926
[ 120,000
Al 4,289,046
MENE] 4,000, 186 2,346,000 1,654,186
SN NSAYIX ALY 3,970,000 2,326,000 1,644,000
308 XHXISHHISOIE 3,970,000 2,326,000 1,644,000
05 KHXISHHI2HRE =2 512,000 601,000 A89,000
OZEDNSstn QWAL Q12|
512,000,0002 * 14l 512,000
06 DEIZHUHBIEE2 3,458,000 1,725,000 1,733,000
Ostm WSAHH XA 2,528,000,0008 *14! 2,528,000
OsANE gttssts X
300,000,000 * 14! 300,000
ONEED HOHHELNH 29
150,000,000 * 304 A 450,000
Otz Bs1a 29 30,000,0002 * 6714 180,000
et nsS X 20,000 20,000 0
403 XHXISHHS K20l ™ 20,000 20,000 0
02 ZI|ZSOCHSHCHE ALY 20,000 20,000 0
OZEMYE D WA XA
20,000,0002 * 14l 20,000
petE2stel a2 1e 10,186 0 10,186
403 XHXISHHIS K20l 10,186 0 10,186
02 ZI|ZSOCHSHTHE ALY 10,186 0 10,186
OZ2stn HatE2ystal &s2 112
10,186,0002 * 14l 10, 186
st AlX 408,860 212,120 196,740
[ 120,000
Al 283,860
SIS AIX| 2 AIH AL 405,500 208,000 197,500
[ 120,000
Al 285,500
201 Upt2H| 3,000 3,000 0
01 ArRZ2ld 3,000 3,000 0
@ITIES=1i] 3,000
o NZANA EBE M
1,500,0008! * 23] 3,000
301 LBt AZ 2,500 5,000 A2,500
10 SALAIHIB A2 2,500 5,000 A2,500
OrlstAs A2 2hets] &0t
250,0002! * 58 * 23] 2,500
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= - — N L=
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
308 XAXIEHMSOIA 400,000 160,000 240,000
L= 120,000
Al 280,000
06 WEIZ0HEtEES 400,000 160,000 240,000
Ostuga AZH FIotg2 BX
400,000,000& * 14! 400,000
< 120,000
Al 280,000
SSAXAAME 2E3H| 3,360 4,120 AT60
202 O4Hl 3,360 4,120 AT60
01 2B 3,360 4,120 AT60
Ot gAXI& #XIor 3,360,000& * 14 3,360
HE2HGHI (D2 ) (IIEHIIE 39,550 39,840 A290
Qe A| 4,200 4,200 0
QI A 4,200 4,200 0
203 HRF=&H| 4,200 4,200 0
04 REA2ELRFAHI 4,200 4,200 0
ORAM2EYRFA 350,000& * 12& 4,200
JIE&l 35,350 35,640 A290
Jl=&| 35,350 35,640 A290
201 YLEr23H| 22,440 22,440 0
01 AtS2elH| 22,440 22,440 0
Oget==&H| 13,200
SUEASEE 12,0002 * 5& » 128 720
o HPYARESHI 200,000& * 12& 2,400
S AIRI1J| A2 3| 600,000& » 12& 7,200
oAnE EAFALI 10,200& * 200 2,040
oA E 4| 840,000& * 14! 840
O=&l 9,240
oll=YRasZAl|
7,000 » 22 * 5 » 123 9,240
202 0ddl 8,910 13,200 24,290
01 =W 0l 8,910 13,200 24,290
Ol =g R=a0it] 8,910,000& 14 8,910
405 XHatE SHI 4,000 0 4,000
01 MY 2 SHSH 4,000 0 4,000
OIS A e 4,000,000 » 14 4,000
oliglgr(oiigigl/oulbl) 5,542,406 4,564,928 977,478
ol 5,542,406 4,564,928 977,478
o1yl 5,542,406 4,564,928 977,478




HEXEZ

ColgIBI(aBIbl/odigl)

i
x
0
J2
M
Jon
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- _ — Pl
2. 2A BB S() - HRAY - BES 03] &k o4 St
801 OilHIH] 5,542,406 4,564,928
01 oildlbl 5,542,406 4,564,928
Oulgidl 5,542,406,000& * 14 5,542,406




A= BHNAR S BEXAD
HE: S|& NES9| FTH(UNDIHT/AHT)
ol N2 L 3 (&2 & &)
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
HE XAt 17,854,642 15,949,649 1,904,993
= 40,060
= 29,640
Al 17,784,942
E)|E ANYZRD| L(LSI ;A /ARAT) 3,729,209 3,611,494 117,715
< 8,640
Al 3,720,569
HYX A2 3t 430,203 416,983 13,220
< 8,640
Al 421,563
SEEML 2Y 16,180 18,840 A2,660
201 LEr2H| 16,180 18,840 A2,660
01 AtR22ltl 10,180 12,840 A2,660
Oget=EZH| 10,180
oM BE A% ¥ EX TYS
1,000& * 1,0004 1,000
oA 2% ATETY
8,000,000& » 14! 8,000
oJ|E=EIF 423l 39 ¢
70,000& * 2H * 23 280
o2AD NREER 4EF 7
45,0008 * 1074 * 23l 900
02 3Z2=24H| 6,000 6,000 0
O322= % HAl 6,000
o0|SAI & g2eslls RAES
500,000& * 123 6,000
HEXN=ZH =0 & 2 18,773 95,443 AT76,670
101 @1A4H| 9,727 9,443 284
10 JIZtNI22 1 sSE =+ 9,727 9,443 284
OXEFA22E 9,727
oJlE2s 33,890 * 1H » 230 7,795
oxd & 1,932,000& * 14 1,932
201 e 4,046 7,000 A2,954
01 AtR22ltl 4,046 7,000 A2,954
Oget=&H| 4,046
oA AAE |XI2= 100,000 * 12& 1,200
oAtz - AA ARS Y 23|
1,746,000& * 14 1,746
oitz4a SHOIKN KA 2=
110,000& = 10& 1,100
405 XHatF S 5,000 49,000 244,000
02 SN 5,000 10,000 /5,000
Oktzd &7 5,000,000& * 14! 5,000
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M= BINAR SN BINADY
B 2|3 A2 KN (ANDDTHE/AUHE)

chel: e chol @
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
JIE2e 23 144,042 142,260 1,782
201 YEr2EH| 140,042 138,260 1,782
01 AtR22ltl 10,042 8,260 1,782
Oget=EZH| 10,042
o ANELX 22t 50,000& = 1005 5,000
oREE AlAH 24| 166,000& * 12& 1,992
cHEZNH A 20,0002 = 1008 2,000
oZEZMas 2o #=F
70,0008 * 3H * 53 1,050
02 S22l 130,000 130,000 0
O222= ¥ HA 130,000
oRESYEN 100,000,000& = 14| 100,000
otz 2e|AlIAE RXE+
2,500,000& » 12& 30,000
202 0ddl 4,000 4,000 0
01 =U0bI 4,000 4,000 0
OJI=E8&2XNE d& oyl
100,000& * 4& * 102 4,000
g 9 a2 22 131,608 105,500 26,108
201 223 131,608 105,500 26,108
01 AtSZeltl 131,608 105,500 26,108
Oget=EZH| 6,608
SZUIRAIAEAUAN =2
13,5003 *» 34044 « 128 5,508
ogiady s A 100,000& * 5% 500
ogda HAF MNE 50,000 * 12& 600
Oo2d+g 125,000
oY= 50,0003 = 5% = 5002 125,000
A0 Z ¥ eHodZ2 23 90,800 54,940 35,860
201 Ler23H| 2,000 2,000 0
01 AtR2elt| 2,000 2,000 0
Oget==&H| 2,000
oSHUMMUH =Z7L  100,000& * 205 2,000
301 LEE A= 2,800 0 2,800
10 AMAHIE A= 2,800 0 2,800
OSeLAXNL3 AL FA 0
50,000& = 28 & « 23 2,800
403 XXM ENH=01H 86,000 50,000 36,000
03 OHIZESLXIN2EX 86,000 50,000 36,000
Ol 24 X& 80,000,000 = 14! 80,000
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A= BHNAR S BEXAD
HE: S|& NES9| FTH(UNDIHT/AHT)
el AL (e &2
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
OXldolblz SAX(SHSHELII)
6,000,000& » 14! 6,000
SENHZ sS4 XA 28,800 0 28,800
< 8,640
Al 20,160
308 XMXIHMSOIA 28,800 0 28,800
< 8,640
Al 20,160
07 OibHIZ2SLXNFILEX 28,800 0 28,800
O2000F & EMHIZ S XEA
28,800,000& = 14! 28,800
< 8,640
Al 20,160
MASK S 2,105,647 2,094,435 11,212
SRENH E=8 X3S 180,000 216,000 236,000
303 Z&= 180,000 216,000 236,000
01 Z&3 180,000 216,000 36,000
OZREH B2
100,000& * 150H * 123 180,000
28 SRR L AL EZA 22,000 26,000 24,000
201 Ler23H| 6,000 6,000 0
01 AtR2elt| 6,000 6,000 0
Oget==&H| 6,000
oZRA U SIIFHZTY
15,0002 * 4000H 6,000
303 Z&3 16,000 20,000 24,000
01 Z&3 16,000 20,000 24,000
OR=EYHIR& MHAIE  200,000& » 80H 16,000
=23 MU =X 18,480 24,000 A5,520
201 YErH2EH| 9,240 12,000 A2,760
01 AtSZeltl 9,240 12,000 A2,760
O= gt 9,240
oZ2& % IE MEMEU HA
7,000& * 1,320 9,240
301 LEEAF 9,240 12,000 N2,760
10 HAAHIE A S 9,240 12,000 A2,760
O= gt 9,240
oZR& % IS MESEUa HA
7,000& * 1,320 9,240
33 AN & 29 10,800 14,500 A3,700
201 YLEr2H| 5,800 3,500 2,300
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S BEXAD
4 /BN )

- - PolE |
-2 FZH - EASA) - NREAMY - BES Oll &4 ‘oﬂ‘&g BlusZ
01 AtR2t2|H| 5,800 3,500 2,300
OArRZ2|H| 5,800
oS53 U= N
400,009 * 12HS 53] 4,800
oMM R4 1,000,008 * 14 1,000
202 04| 5,000 11,000 16,000
IETEL 5,000 11,000 16,000
OS33| ZItoiH| 500,002 * 10JHS3l 5,000
228 =SAHE 29 1,200,000 1,200,000 0
303 LA 1,200,000 1,200,000 0
01 Z&3 1,200,000 1,200,000 0
OESESTHE Al
800,000 * 1,500% 1,200,000
IyAgey 17,653 31,000 A13,347
101 Q124 11,653 0 11,653
10 JIAH22XS 24 11,653 0 11,653
SPIEN MRS 11,653,0008 * 12 11,653
405 XHatE SHI 6.000 31,000 £25,000
01 XYL SEHSH] 6,000 31,000 £25,000
OxteEE Y 6,000
oOIARISEE Y 2,500,0008 * 2CH 5,000
oBZA WHD T 1,000,008 * 1CH 1,000
CHMQI2) X2 102,064 76,500 25,564
101 Q1214] 102,064 76,500 25,564
10 JIAH2EXS24 102,064 76,500 25,564
OBEIHA JIZH22R 212
25,516,008 * 14 25,516
OFXUM JIAMIZR 212
76,548,002 * 14| 76,548
P8 AR FY 17,960 40,960 £23,000
201 Y2 17,960 20,960 3,000
01 AtRZ2lH| 17,960 20,960 £3,000
osgsg 3,960
SLSAXI2AY 330,008 * 1Y « 128 3,960
OgptagH| 14,000
SLRA +UE 500,000 * 43l 2,000
oN® MKl A4S L JIEERY
10,000,008 * 144 10,000
S RS 10,0009 * 200 2,000
QAT A0 Fe3 517,190 445,975 71,215
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A= dEXEA= A YK
HE: 2|8 NISS| TH(ANDIHT/UHT)
ool DAE=x ST (S5l &)
- _ — Pl
AR RN ZH - (EH) - NRAY - BES 03] &k o8 St BlRE2
307 2I2+0I M 517,190 445,975 71,215
05 BIZtRIE= 517,190 445,975 71,215
OHoEea 2Ea sat
517,190,000& * 14 517,190
HNA=X S 2FZH| 19,500 19,500 0
202 0ddl 5,000 5,000 0
01 2L LI 5,000 5,000 0
OFM=XIF=& 48l 100,000& * 5& = 102l 5,000
203 PR=&H] 14,500 14,500 0
03 AIMFAHRZ=EY| 14,500 14,500 0
OLMBF LYY AIBESZ
14,500,000& * 14! 14,500
A= o QAR Y 1,193,359 1,100,076 93,283
QIAIZ S 2kl 148,450 36,930 111,520
201 2BH23HI 28,400 29,930 21,530
01 AtR22lt| 28,400 29,930 21,530
Oget=EZH| 18,400
CAUSRATNEZHI(AEEM. . BHES)
11,300,000 * 14! 11,300
CQIANNZZ 0 RIIES 400,000& * 43] 1,600
oUEE 2UIMA 5,000& * 30004 1,500
oZRHES MESS 5,000& * 2009H 1,000
oHHI|IAHME 500& * 1,00000 * 23l 1,000
CoRI|HUZ2Z2 X AUAIZZ MR X E 4|
500,000& * 43| 2,000
O=2d=¢ 4,200
SOIANSIRE FA +Y
70,0002 * 598 * 123 4,200
Ogxt= 5,800
otAIHEY ¥ I |2 FHAIGEEY|
350,000& » 1€ = 120H& 4,200
S QIAFRAHE 2XtHl 50,0003 » 8 43| 1,600
202 0ddl 5,000 5,950 A950
01 2L 5,000 5,950 A950
OQAIHS ESEY 0l
100,000& * 59 » 10 5,000
207 IR 100,000 0 100,000
02 &ADHEH| 100,000 0 100,000
OQIADIZEIE HAtSHDB) S
100,000,000& * 14 100,000
301 LEtEAz 12,050 1,050 11,000
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&= A YA
g 2RI Td(Ler3sY/LetAy)
nsyel eA2Y

= - — Al L=
2B GL(3) - RN - B ofl &t e HIDE2
10 HAIMHIE2 4= 1,050 1,050 0
OXNgSFE MHEAE SHEMAE S4H|
5,000 = 7& * 34l 10 1,050
12 JIet24=2 11,000 0 11,000
OYUENBRY SN2
11,000,000 = 1& 11,000
405 KHakH =4 3,000 0 3,000
01 NS SFSHI 3,000 0 3,000
OUASAATIHBEIIAAl LES 7
1,500,000 = 2CH 3,000
fE ARUSE 2¢ 541,000 567,300 A\26,300
201 ety 155,000 150,000 5,000
01 At 2tcIbl 155,000 150,000 5,000
Oggt===t| 155,000
SESE SSENUESEE S 300,000& * 450& 135,000
oANOIB RS ERSIS2Y
20,000,000 * 14| 20,000
202 OdH| 360,000 370,000 210,000
01 =WHHI 300,000 300,000 0
OXFH2 S 300,000& * 1,000& 300,000
04 = Hl=t0ibl 60,000 70,000 210,000
O=2u=0tl 60,000
oTA&cA e id A WF0H|
5,000,000& = 4% 20,000
CHSNSIY 2L WKOIH|
4,000,000& * 10& 40,000
301 eet2a=s 26,000 47,300 221,300
12 JIe2d=s 26,000 47,300 /21,300
OUREE =2XNNE USFE3
600,000& » 20& 12,000
OXRYs F2XNE WSO
700,0008 » 20 14,000
ERNZSFA A2 95,000 129,000 34,000
201 &er=gHl 7,000 1,500 5,500
01 At 2tcIbl 7,000 1,500 5,500
Oggt=+==t| 7,000
CEIYAMBAL SETY(BLYS)
2,000,000& = 14 2,000
SEAN SZW M 250,000& » 20 5,000
303 Eaf= 88,000 127,500 239,500
01 Zats 88,000 127,500 239,500
OEXNSRHE s2d= 5,000,000 = 16 80,000
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A= dEXEA= A YN
Mo AFEO S L KA TUSH L DTHET/ LB E)
ool ZRINFSY (S1:52)
- _ — Pl
AR RN ZH - (EH) - NRAY - BES 03] &k o8 St BlRE2
307 2I2+0I M 10,000 10,000 0
04 CIZHHALS X 10,000 10,000 0
ORMIotel = ErBEAL BX
10,000,000& * 14 10,000
) B vl 95,303 0 95,303
403 XXISHHMSAH201H 95,303 0 95,303
02 S| 2SO0ICHSHCHEE At I 95,303 0 95,303
OHM53l SAXNYHH SRS (dH22/A2S)
95,303,000& = 14 95,303
AMEAM 2tHd HARFX 24,500 29,000 24,500
201 Zet23d] 24,500 29,000 24,500
01 AtSZeltl 24,500 29,000 24,500
Oget=EZH| 23,500
cHMAWATN 7 7,000,000& » 14 7,000
oA HRLFH MHH 10,000& * 1,250 12,500
oAMZAM 22 HME  1,000& = 2,0000H 2,000
CHIYPAANSY 242
100,000& * 202X 2,000
O2d=+g 1,000
CFUSHHTAOSR B
100,000& * 10 1,000
LEANER2YE I3 219,000 229,000 A 10,000
202 0ddl 12,000 20,000 28,000
01 2L 12,000 20,000 28,000
OgelAME F&04Hl 100,000& * 108 123l 12,000
203 YR=&H] 207,000 209,000 A2,000
03 AIMFAHRZ=EY| 207,000 209,000 A2,000
OFQAIFLETALZEI(AIE)
153,000,000& * 14 153,000
OAZEABHFZZ(ZAIE) 30,000,000 * 14! 30,000
OZEANF2Y (=) 24,000,000& = 14! 24,000
o 28 243t 192,000 260,200 268,200
HolagATY} 184,800 251,800 A67,000
201 Zet23d] 184,800 201,800 A 17,000
01 AtSZeltl 184,800 201,800 A 17,000
Oget=EZH| 7,000
cUEMNHASES Y 100,000& * 203/ 2,000
cusEHE =M M 200,000& * 253] 5,000
ORg =l 120,000
oXHO|AZASTATWSR  300,0008 * 400X 120,000
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AR RN ZB . CR(EA) - HRAY - BES 0l &k o8 e HlmE2
OLHZ SR IIcHAFA T AFRIZAHI
7,540,000& * 14 7,540
= 7,540
202 Oid| 2,000 3,000 A 1,000
= 2,000
01 2LHHbI 2,000 3,000 21,000
OZ N S3ALloAFA Z AL I
2,000,000 * 14 2,000
= 2,000
WAHAL HARE S5 20,900 7,745 13,155
= 20,900
101 Q12| 18,900 0 18,900
= 18,900
10 JIZtH22XsSE+ 18,900 0 18,900
OFATRY BS48 121Y|
18,900,000 * 14 18,900
= 18,900
202 O4d| 2,000 5,945 A3,945
= 2,000
01 =LHOd I 2,000 5,945 A3,945
OdaHYE S8 odl 2,000,000& * 14 2,000
= 2,000
2 M= Il oH KHXI & 9,620 0 9,620
= 9,620
101 Ql24d| 7,620 0 7,620
= 7,620
10 JIZtHI22XsSE+ 7,620 0 7,620
OZHSJALIHAAI& 1244]
7,620,000 * 14 7,620
= 7,620
201 LEt23H| 2,000 0 2,000
= 2,000
01 AtR2teltl 2,000 0 2,000
OZ M S3OoH AR AFSHI
2,000,000& * 14 2,000
= 2,000
QIZICHH A EEU XA 394,000 371,000 23,000
< 21,000
Al 373,000
MII MRS 2 235,000 235,000 0
307 2I2+0I M 235,000 235,000 0
03 AtIHHIEERZ 235,000 235,000 0
OAtal&HAl XI& 235,000,000& * 14 235,000
HEOHA XJAMEH 29 30,000 30,000 0
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A= BB S BEX D
M ANFEEH 20 L AN USH LSS A /ARAEY)
el QI AIZE A (&2 & &)
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
307 2I2+0I M 30,000 30,000 0
02 QB AE L 30,000 30,000 0
Og XL AHXALH 2
30,000,000& = 14! 30,000
QIZHHH SN 72,000 50,000 22,000
301 LEIEAE 10,000 15,000 /5,000
10 AAHIE A= 10,000 15,000 25,000
OMOESXIEX =& 100,000& * 100 10,000
307 21201 62,000 35,000 27,000
04 QIZHHAIE & 62,000 35,000 27,000
ORIZFHAIE = 62,000
o MOIESXNEXUEl 2= 5,000,000& * 14 5,000
o MOIS XS Aot H =2 U 22
10,000,000& * 14! 10,000
oHIiZANAII2E NE=XHe 22X
5,000,000& » 14 5,000
o SHSAHM A 2,000,000& * 2104= 42,000
OHSALE X =ell 5,000 5,000 0
307 21201 5,000 5,000 0
04 QUIZHHAIE £ 5,000 5,000 0
OUEAER = 5,000,000& 14 5,000
6.25= ¢l 10,000 5,000 5,000
307 gI2told 10,000 5,000 5,000
04 QUZHHAIE X 10,000 5,000 5,000
O6.25=cl| A XI& 10,000,000& * 14! 10,000
MOISXIEX HH Hes K& 42,000 46,000 24,000
< 21,000
Al 21,000
301 LEE A= 42,000 46,000 24,000
< 21,000
Al 21,000
02 Het=2¥stit= 42,000 46,000 24,000
OMOISXIEXAHHES S K&
42,000,000& * 14! 42,000
< 21,000
Al 21,000
FOIAR HE2E 991,200 599,300 391,900
FOUXXHE X & 29 304,200 284,000 20,200
201 Zet23d] 259,200 267,000 A7,800
01 AtSZeltl 243,600 251,400 A7,800
Oget==&H| 171,600
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D EENE=R A YN
CAEEN B Y AXSEUSH (LS I A/ ABAE)
I PPN = (&2 & &)
= - — N L=
CERA BB E(E) - NRAY - By S 0l b e Rz
o=DIRXIME ARl
1,100,000& * 1344 » 123 171,600
ozg+¢ 72,000
o0 =&
20,000& = 300% = 12& 72,000
S322H| 15,600 15,600 0
O=8XxdE 2223l
100,000& * 13744 » 123 15,600
2Bt ag 30,000 17,000 13,000
HAAHIEA S 26,000 13,000 13,000
OEAtAHIZ2 &= 26,000
oF=DINXIME 2fgfal It o4l
1,000,000& * 137024 13,000
o0 WEEI K|
100,000& * 100 10,000
os0tel FAHUE FIHE)
100,000& * 30 3,000
12 JIEtE2 4= 4,000 4,000 0
O=CXXdE 2HEIA&
2,000,000& * 14l 2,000
OFCURXRY A2NT ZAt=2
2,000,000& » 14 2,000
307 21201 15,000 0 15,000
04 QUIZFHAIE X 15,000 0 15,000
ORIZHHAIE X 15,000
oS0r2IZAUS Y LHHF
15,000,000& 14 15,000
LM XA 83,800 65,300 18,500
301 LEtE A= 63,800 45,300 18,500
04 XNELHUHI 2| 63,800 45,300 18,500
OXNS2LHUE Ort=AH|
000& * 5% *2400CH * 275 33,000
OXNSg8l IR
50,000 = 24JHCH * 12& 14,400
OS2I 24|
50,0003 = 2401CH = 12& 14,400
OXNSLEHUHE Aoll2E 2,000& * 1,000 2,000
307 gI2told 5,000 5,000 0
04 QUZHHAIE X 5,000 5,000 0
Oty detd=sal 5,000,0008 « 14 5,000
402 SI2HXHE01H 15,000 15,000 0
01 glt=Ex 15,000 15,000 0
Oty & 2 15,000,000 = 1CH 15,000
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A= AHIEXE= A YN
M ANFEEH 20 L AXNGSUSHLSIHH/ABAEY)
Chel: FOIXX &3t (&2 & &)
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
A HOIALY X1 200,000 200,000 0
401 Al&HIZL =20 200,000 200,000 0
01 Al&dI 200,000 200,000 0
Optatsl A2AHY 200,000,000& = 1A 200,000
HIWY CCTV Xl & 29 403,200 50,000 353,200
201 YLEr23H| 100,500 0 100,500
02 S22l 100,500 0 100,500
O222= 2 HA 100,500
o HA ol gcCTVE S 100,000,000& * 14! 100,000
S KNSMRA HHEAIE 2|
50,000& = 10JHE 500
401 A&BIZ R0 302,700 50,000 252,700
01 Al&dl 300,000 50,000 250,000
Og 2 0le CCTVE X 300,000,000& * 14! 300,000
03 AIZ=0HbI 2,700 0 2,700
O XM CCTVEXI Ald SCH
2,700,000 » 14 2,700
HY2HZH| (X D) (DIEHDIIE 11,914,740 10,566, 180 1,348,560
EEETIESS 1,672,560 10,348, 565 1,373,995
PIAAZ2 2RI AHY K& 1,013,402 983,583 29,819
101 el24H| 1,013,402 983,583 29,819
09 RIAHA22 N E s 1,013,402 983,583 29,819
OANHEFX 2| HAZ2XNES(DIASERY) 1,013,402
=llE=s 426,725
HHEEH L 33,8903 = 30€ * 250 254,175
CEHELR 40,6003 = 17& » 250 172,550
o0z 142,242
HEEX 8,472,500& * 30&  1/3 84,725
CEHELR 10,150,000& * 172 = 1/3 57,517
ocUlXt+g 34,138
HHE L 33,8902 * 30¥ * 20 20,334
LR 40,6003 * 1798 » 20 13,804
oxgd 88,760
HHE X 33,8903 * 30H « 52 52,869
CEHELR 40,6003 * 179 » 52& 35,891
oAZte 2RFE 62,134
HEEX
5,4203 = 21 = 10AI12+ ~ 12042 13,659
DA (Z22I8Y)
5,420% * 9F » 42A12F = 12013 24,586
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HERA=Z 2N #EXIE
HESHAYI(HH X)) (IIEHIIE
SEE=T (Shel:E)
2. RA I E(E) - MRAY - BaS e HILSY
203 PR F=&IY| 176,990 164,195 12,795
01 J|2#2g9H2R2F2Y| 138,600 126,000 12,600
OJ 1229 HRFA 138,600
oAl & 79,200,000& * 14| 79,200
o2 AIE 56,100,000& = 14 56,100
o= & 3,300,000 = 14 3,300
02 HRIER= 33,650 33,455 195
OFAINIHR 33,650
<100 DA 80,000& = 1009 8,000
< 101~300 60,000& * 2004 12,000
©301~600H 45,0003 * 3004 13,500
<601~800H 30,000& = 5H 150
04 ENSIHRF 4,740 4,740 0
ORANSIYR 395,000& = 12& 4,740
=3l 65,190 53,420 11,770
JlE2Zl 65,190 53,420 11,770
201 LBt23H| 34,800 30,020 4,780
01 AbR2teltl 24,800 20,020 4,780
Odbtx=2H| 10,100
oHFANRESHI 100,000& * 303l 3,000
oM™ EH|4=2lH 100,000& * 303l 3,000
o J|Et==2H| 4,100,000 * 14| 4,100
O= &l 14,700
ollzeges
5,000& * 2459 = 12& 14,700
0z 232gH| 10,000 10,000 0
Os32=2 % HA 10,000,000& * 14! 10,000
202 0ddl 30,390 23,400 6,990
01 =2LHNYI 30,390 23,400 6,990
OJ|I2g 23 30,390,000 = 14 30,390
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= S HED

(LErBSSHA/ LAY - WEXR)

S
- _ — Pl
CHE L SRI(E) - HRAY - BAS il &t St
793,283 797,224
UBISSHA /KLY - THEXIH) 740,203 731,644
=S 513,481 452,628
2 M- 2 H 195,838 189,795
sl 8,503 8,255
2H2ENSES 8,503 8,255
NSk H.SEM SREX AR 8,503
oJllgs 33,890% * 1H » 200 6,778
oA (FEH ANLLES)
1,725,000& *14 1,725
2eH23H| 187,335 173,540
At 22|l 84,680 72,540
Oget=EZH| 56,000
o XA EAIXA 60,000& » 5002fA 30,000
oM+ HMDIXA 60,000& * 50=rA 3,000
oRUAEE HSEMA 150 * 20,0000H 3,000
CNEYOIMESHAZE|
20,000,000& = 14! 20,000
O=2d=¢ 8,680
o XNZAA2RAS 70,0008 * 11 » 63 4,620
SV RN
70,0002 * 11 * 43| 3,080
SI|RAMRARE 70,0002 * 14% = 13| 980
O=2&HE XGtAEE LA
20,000,000 = 14! 20,000
3323l 102,655 101,000
O322= 2 HA 99,655
oXIYAILS (LBt
250& * 250,0008 = 13l 62,500
o XYM S(SII)
1,750& = 14,000& * 12l 24,500
<J|Et DXMES(SII)
1,750& = 2,000&8 * 13 3,500
oHBEEIIASKS LB
2503 * 34,6208 8,655
o2 XNLAMER 2/l 500,000& * 14! 500
b= =] 3,000
oXHEHIRAH ¥ XMHHARSH|
3,000,000& * 14! 3,000
LMY T2 RANES 104,388 90,878
BRI 49,053 58,353
tS2teldl 49,053 58,353

_25_




= HINE= A MEH
M NES(LEISHY/NLHE - HEXH)
crol: XM &S0 R
= - — N L=
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
OLXNMSEI B2 275,000& * 33 825
OLNEZEHI| 72 950,000& * 123l 11,400
OXZAMAE & Me+=RAE SN2+
2,059,000& * 12%] 24,708
OdlREBS 22| S/IW SXES
355,000& * 123l 4,260
O28tY Mg 22lAA8 S/W 22+
605,000& * 123l 7,260
OJAAHAAE RRE 150,000& * 43| 600
403 AtXISHHMSX=01H 55,335 32,525 22,810
02 S| 2SHCHECHE ALY 55,335 32,525 22,810
OHEENLA F2AIAE 72t
27,500,000& = 14! 27,500
OSSNLA FBEAIAE 7R 22
3,800,000& * 14l 3,800
OM2=2 HEAIAE S
11,000,000& » 14 11,000
ONeI=LEEAAE NES =& AL
7,000,000& » 14 7,000
OXIZA HIA 22 XS HSAIAE JHE A
gl 6,035,000& * 14 6,035
M -85 163,475 125,175 38,300
201 e 103,475 105,175 A 1,700
01 AtSZeltl 13,500 13,500 0
Oget==&H| 13,500
cYFMe S0HM =4I 500,000& * 1524 7,500
ORSMYR U YAZELLE
2,000& * 1,50024 3,000
oHEA =EEENS==2
2,000& * 1,500 3,000
02 3324l 89,975 91,675 1,700
OZZ22aLHA 89,975
oREE 89,975
JIBt DML S (SII)
1,750& * 1,500 * 12 2,625
sS=zyws(Ys)
2503 = 10,000& * 63 15,000
CSEZYS(SI)
1,750& * 300& » 43 2,100
HE DML S (e
2503 * 65,0008 * 43 65,000
CEXIMOMN EE(Ye
2503 * 8,5008 * 23] 4,250
DAY AL RESHAU2ES
250& * 2,000 * 23l 1,000
303 Z&=3 20,000 20,000 0
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23 SA HED
o
=

SSSEY /ALY - HEXE)

= - — N L=
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
01 Z&3 20,000 20,000 0
OXNgd iz 20,000,000 = 14! 20,000
405 XHatF SHI 40,000 0 40,000
01 ML SESH = 40,000 0 40,000
ONY NSXHSH NSQUAAAY &
40,000,000 * 14! 40,000
NLANEEE HE 15,000 15,000 0
201 LEr23H| 15,000 15,000 0
01 AtR22ltl 15,000 15,000 0
OXNgHEEE =2 2,500,0008 * 63 15,000
NEM=SUHAIE 2Z 34| 34,780 31,780 3,000
202 0ddl 29,280 29,280 0
01 =U0bI 29,280 29,280 0
ONSESZAF (bl 200,000& = 3H = 83l 4,800
O A &= Ol
130,000& * 10H * 83 10,400
OMels| M THAXE S &4 o]
130,000& * 2H * 83 2,080
OMEXE JIsgXet eI o
20,0002 = 10& * 282 5,600
OZe DM H28+= & =4 o4l
200,000& * 42 « 83 6,400
203 PR=&H| 2,500 2,500 0
03 AMMFAHSFEIH| 2,500 2,500 0
OXN LN =SHAIZH=Z 2,500,000& * 14! 2,500
303 Z&3 3,000 0 3,000
01 Z&3 3,000 0 3,000
OEZNAL= F=E43 3,000,000& 14! 3,000
WIANXE SEEA 114,326 215,720 A 101,394
HEFEHEL L HAESEZA 102, 166 99,912 2,254
101 eIl 32,166 26,021 6,145
10 JIZtMI22 S22 32,166 26,021 6,145
OMNEFEIIAIA HREEX 8,503
oJllE2s 33,8903 » 200 * 1 6,778
CAH(FR. ANLLEE)
1,725,000& * 14 1,725
ONEFEINATMA(S.H.8) X 23,663
=llEzs 33,8903 * 252 * 23Y 19,487
oFEaY 4,176,008 * 14] 4,176
201 e 70,000 73,891 23,891
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(=)
D HES (s3I /NS - WEXH)
= S

2AM D

Sl WAIRE S XA (&2 & &)
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
01 AtR22ltl 70,000 73,891 23,891
OFEHNAXA E24E
70,000,000& = 14! 70,000
Eze] GRFA 10,600 11,600 A 1,000
201 e 10,600 11,600 A 1,000
01 AtS2elH| 10,600 11,600 A 1,000
Oget==&H| 5,000
o2 SMHEIIRIAS] 3ICIHF QI
500,000& * 43 2,000
o MAAEZ 60,0002 * 508fA 3,000
Oo=2g+4 5,600
oSS AHEIIRIRE 70,0008 * 10H * 43 2,800
oAU EHYAAZZ
70,0008 = 108 = 43l 2,800
HAXZE SEZAL 2EEH 1,560 1,560 0
202 0ddl 1,560 1,560 0
01 =UWObI 1,560 1,560 0
OF SAHl HNTE AL 0]
130,000& * 29 63 1,560
KAl B2 AR 112,396 63,296 49,100
HEIME & 112,396 63,296 49,100
201 Zet23d] 112,396 63,296 49,100
01 AtSZeltl 112,396 63,296 49,100
OXIZA SISERHY +48
2,000,000& = 43 8,000
OXNZA NHSO0IM BE=+=== 66,0008 * 63 3%
OXZA StEZT =2
3,800,000,000& * 2% 76,000
OM2=g HEZM ==+
550,000,000& * 2% 11,000
OXZA It HZ §Re2
80& * 150,000 12,000
OREBEHE =2 5,000,000& 14 5,000
HE2AZHI(MZ D) (JIEHDIE) 53,080 65,580 A12,500
QIR A| 4,620 4,620 0
QIR A 4,620 4,620 0
203 PRF=&H| 4,620 4,620 0
04 FEA2ELRFLHI 4,620 4,620 0
ORA2Y JRF&H 385,000& = 123 4,620
Jl=&l 48,460 60,960 212,500
JIZ2&Hl 48,460 60,960 212,500
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4= xR A HED
3 HHES2EIHI(ME D) (OIEHIIE)
Chel: J1=23Hl (&2 & &)
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
201 LEr2EH| 25,500 31,600 26,100
01 AtR22lt| 25,500 31,600 26,100
Oget=EZH| 15,000
o HHY AR ESHI 4,000,000& 14 4,000
o™ AH|=2ld| 4,000,000& = 14 4,000
=J|Et==EH] 3,000,000& =+ 14 3,000
oXgAztd EA 3,000,000& * 14 3,000
SUEF=EE 150,000& * 43 600
oQIHAHZ 2 200,000& * 23] 400
Or=1=i:] 10,500
ol|lzY R Al
5,000& = 35& = 43| » 128 8,400
R N
,000& * 35H * 23| » 62 2,100
202 0ddl 22,960 25,360 A2,400
01 =UWObI 22,960 25,360 A2,400
OJ=2g S04l 22,960,000& * 14! 22,960
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A= HIXE= A A
A HE NA(LSIHH/ ALY - WEXR)
ool SE szl 29 (S5 &)
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
2| Al 55,022,969 57,509,703 N2,486,734
M NA(LerBISA/ LAY - HERR) 66,520 73,960 AT,440
e 2H2e 2 66,520 73,960 AT,440
ANEZH R a8H=2d 15,600 26,900 211,300
201 2et23d| 15,600 26,900 211,300
01 AtR2elt| 15,600 26,900 211,300
OZURIRE RENR Ol
100,000& * 1005 10,000
OZ 433 FA&=E 70,0008 * 48 + 20 5,600
SAR)| 2 HNE2Y 23,000 23,000 0
201 223 23,000 23,000 0
01 AtR2elt| 23,000 23,000 0
OSAR)| MREDM &2t 20,0003 * 400 8,000
OB HAL HELEDA HEES
15,000,000& * 14! 15,000
S84 AN =22 22,340 18,960 3,380
201 LEr23H| 22,340 18,960 3,380
02 3324l 22,340 18,960 3,380
OL2tEH Ol8s2 20,0008 = 4002 8,000
OA¢zelZ2 0l SN2+
670,000& » 123 8,040
Oetalopiasl HA4Y
0,000& * 102  9¥ 6,300
ANE & S48)| 2E3H| 5,580 5,100 480
202 0ddl 5,580 5,100 480
01 =UWObI 5,580 5,100 480
OXEY =ASI|2Y ot
5,580,000& » 14! 5,580
HAMY MRS (L ST /AL E) 4,063,521 7,710,991 N3,647,470
SEXE - 2L 222,714 272,114 A49,400
SEXNE RAE=x 143,679 106,714 36,965
201 223 143,679 106,714 36,965
01 AtSZeltl 5,800 4,750 1,050
Oget==&H| 5,800
o tsXEAr=+== 25,000 = 32CH 800
clXEEZ SUIHE 50,000& = 1000HK 5,000
02 3324l 137,879 101,964 35,915
O322= %2 HA 137,879
o Xt=S A 197,400& * 3204 6,317
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Aot SIAID

ciel: 2ERE - 2 B (9l &2)
AT RA - FHSA(EH) - ARAY - BES 0l &t e HIRS2
cFni BANETES
63,0002 = 32CH * 23l 4,032
oktsi B2 330,000& * 32CH 10,560
o X=Xl 116,970,000& * 14 116,970
SHIIAL AP EE 4,035 3,800 235
201 2pt23d] 3,000 2,800 200
03 A2 3,000 2,800 200
OJIMNM=UE A&S 300,000& * 105 3,000
301 LetEas 1,035 1,000 35
10 A HIE & E 1,035 1,000 35
OJIAF HEUHE JtE24 5,000& * 207 1,035
S - UM 7Y 70,000 156,000 286,000
405 KHoHESHI 70,000 156,000 286,000
01 AL EFFH = 70,000 156,000 286,000
O Wi (3CH) 70,000,000 * 14 70,000
SEXE 233 5,000 5,600 A600
202 0ddl 5,000 5,600 A600
01 2Ll 5,000 5,600 A600
O HALHRFAY 2HIIA SHOAYI
5,000,000& 14 5,000
= - SR 2t 2,144,250 261,896 1,882,354
= SRME aE2c 2,141,250 258,896 1,882,354
101 lAd| 9,750 9,396 354
10 JIZtN22HsSE+ 9,750 9,396 354
OSFMAAEHZAIRQE 2182 9,750
oJllgs ,750,000& * 14 9,750
201 2pt23H| 51,500 49,500 2,000
01 At 2teltl 51,500 49,500 2,000
Ogt=ZH| 51,500
SR PI R 25,000& * 60E X 1,500
o= 25,000,000 = 14! 25,000
ocd&EEI2 25,000,000 = 14! 25,000
401 AlZHI20HYI 2,080,000 200,000 1,880,000
01 Al&tl 2,080,000 200,000 1,880,000
OUAMHAFEXIOHZIH]  2,000,000,0002 * 14 2,000,000
O(R)ds 2 B 50,000,000 = 14! 50,000
O(R)=sSA B 30,000,000 = 14! 30,000
Maob2te| 23| 3,000 3,000 0
202 0ddl 3,000 3,000 0
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Aot SIAID

2.2 B O (BH) - MBAY - B 0l &t e HIRS2
01 2LHHbI 3,000 3,000 0
OMetEte|HR =L o] 3,000,000& * 14! 3,000
A2l - 29 1,696,557 1,496,981 199,576
EAMAIE 22| 1,651,557 1,423,981 227,576
101 Q12| 20,000 15,428 4,572
10 JIZtN22HsSE+ 20,000 15,428 4,572
OFAZZ 2el 20,000,000 = 14! 20,000
201 223 1,444,205 1,276,201 168,004
01 AtSR2teltl 198,731 99,026 99,705
Oget~=ZH| 88,721
oHEANEE L ASAHH  30,000,0003 * 14 30,000
oHANZFAIE (D HEx) HAE
5,000,000& 14 5,000
oHAESIE Az
15,000& » 400m" * 13 6,000
cHALSER 50% = 36,200m * 63| 10,860
CHAAYAL BALLE
9,334,000& » 13/ 9,334
SHASZIIZINIEA =2
200,000& * 6CH 1,200
o HANHLAIL (HSI)ZAAI=2
000& * 174.36RT * 2CH 1,39
CHALSAL(BUR)HAL4R
200,000& * 7CH 1,400
oFHAL AN (ZAINE)BHAS=+Z
500,000& * 1CH 500
SHAFIIAE HZ 442
1,500& * 5,300KW * 13 7,950
oFHAL AIEE & ==
200& * 37,704m" * 23] 15,082
ORgn=H| 3,900
oMI|.JtA FHIIWE S
300,000& * 13H * 13 3,900
Olul=t| 1,000
olBsAl #YUDRN 22
100,000& * 10H * 13 1,000
O=gt| 5,110
o |BSA! =4AH| 7,000& * 2% * 365 5,110
Ogxt=s 100,000
o228 A L= 100,000,000& * 14! 100,000
02 224l 1,245,474 1,177,175 68,299
O=322% MAl 725,170
oEA M|z 30,000,000& * 123 360,000
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A= HEXNEA= A SAH D
W ALY HASH(YBBTUN/ L)
CHel: HAR2e 23 (&&=
AR RN ZB . CR(EA) - HRAY - BES 0l &k o8 e HlmE2
SEN JOFEER
1,100& * 2,500m" » 123] 33,000
oAb . HHEH(IFA) 13,000,000 * 123 156,000
o AYOrMEE 3| 800,000& * 13 800
cAESEIMERLES 3,000,000& * 23| 6,000
ofoi=Raldl(HS. AMES. AA=[H)
110,000& * 5774 63,470
oZollthal SHSH] 1,100,000& = 8924 97,900
cUSFURES 4,000,000& = 22l 8,000
OAlE ZHIsRId] 520,304
cHAAESRAIYI 1,000& = 37,704m 37,704
oA MEAEE RAES
4,000& * 5,300KW 21,200
oHAL AEANEE RAES
5,000,000& * 23| 10,000
oA B (ZALH=) RSB
4,500,000& * 23| 9,000
oY)l R4 8
2,000,000& = 123] 24,000
odtgtate| E2Y 450,000& » 123 5,400
S HACCTVR Al 2 4 5,000,008 * 14! 5,000
SHA YUETAY HE L RXBS(F2E
S0, 22E) 5,000,000 * 14 5,000
oHA BIIFSIANE RXNE4(2H)
10,000,000& * 14 10,000
oH AL IBS&EHl SXIE= 5,000,000& » 14| 5,000
oA SR A 1,400,000& * 14! 1,400
ozd)| RAES 2,000,000 * 14 2,000
S2UIIAH - =Y SXNE=
2,000,000& = 14 2,000
cHAES e 22/ 335,000,000 * 14! 335,000
o &AL IBSAIAE 22|ESR
2,500,000& * 123] 30,000
oHA 2SS RAE=S
80,000& * 355 * 23l 5,600
oEAL YWESI| FHl 5,000,000 * 2CH 10,000
oHA 218 LIDELIH 29
2,000,000& * 14l 2,000
206 M= 4l 82,352 82,352 0
01 =4l 82,352 82,352 0
OEMSXNES M=HI 82,352
OWAEASHM  5,000& * 2004 * 200 * 23] 4,000
oS &N 3,500 * 4004 + 6 8,400
oFdI& R22RJtA 4,500 * 76kg * 6CH 2,052
oHESF(ALIAZGS) 4,5002 + 1004 * 6CH 2,700
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0t O3 02
> > 0d

i we =

= SN S
HA 2 (LB DTHT/ABsN)
2 - 29

- _ - &4
A - B ei(3) - NIZAY - BES St HImE2
= 24 Z Ml (DRYER) 50,0002 = 1204 600
oferol(olgd=el2) 1,000 = 1,000KG 1,000
o2dd F+E4s 1,000& * 2,000KG 2,000
o HLHl E-ME(ECFLEJA4E)
50,000& * 55 * 40M 10,000
cMS(EZS)2405
1,000& *20Z * 5,00008 * 10/100 10,000
=ot8I| (HES2203)
20,000 * 20& * 12504 = 20/100 10,000
cHIIME(HEH FHEUR)
100,000 * 1005 10,000
cALANEHE (LRI LEEAT)
50,0002 *10& = 305 15,000
oJ| A& 2L . F2lA 200,000& » 35 600
oFgd Ea2H 4,000& = 1,500 4 6,000
401 AlZHIZ SO 65,000 20,000 45,000
01 AlZHI 65,000 20,000 45,000
O AL ANIEE= 30,000,000 * 14| 30,000
OF AL IBSHIOAIAE WHISAH
30,000,000 * 14 30,000
OFAF D12 HiEE2=(t=)
5,000,000 * 14| 5,000
405 KHakH =4 40,000 30,000 10,000
At =55 Sl 40,000 30,000 10,000
OAtRd dJ| & =578
40,000,000& * 14 40,000
HAAIE =E | 42,000 50,000 A8,000
206 IH=H] 12,000 20,000 A8,000
01 Mzl 12,000 20,000 28,000
OFA ZZYSH 4HPY
4,000,000 * 14| 4,000
OBAMZE HIgY 4,000,000& * 14 4,000
OFA 23(Z) 7Y 4,000,000 * 14 4,000
401 AlZHIZL LY 30,000 30,000 0
01 Al&Hl 30,000 30,000 0
OAEA Jt2+ HFEE AL
10,000,000& * 14 10,000
OFAL HE 22 20,000,000 * 14 20,000
EA2e|= Al 283 3,000 3,000 0
202 OdH| 3,000 3,000 0
01 =L 3,000 3,000 0
OFArte| Fa04t| 3,000,000 3,000
2 3HI(3H ) (O1EH/IIE) 49,985,428 48,787,752 1,197,676




A= HFZXRE= 2A A
M. HH2AGHI (S H D) (IIEHIIEH
SEERIEELE = 2 Ee)
AT BN EHB . O (EH) - HRAY - BY2 O &t ot e HRS2
OleEASHY|(EZ) 49,950,960 48,751,212 1,199,748
SFJNAHHIX& 49,950,960 48,751,212 1,199,748
101 12| 47,701,020 46,494,432 1,206,588
01 JIE2= 26,752,212 26,557,013 195,199
Oo=s= 24,726,031
o2z (¢HE) 75,303,000& * 1 75,303
o33 (dE) 72,236,000 * 14 72,236
o433 (HE) 66,082,000 * 44 264,328
obg 2,961,300& * 52 = 12& 1,847,852
SYo=1 2,555,600& * 21598 = 12& 6,593,448
o7z 2,132,700& * 233Y » 128 5,963,030
o8z 1,583,300& * 188Y * 12& 3,571,925
=9z 1,191,400 * 1229 * 12& 1,744,210
S3=FSEN 2,328,000 * 3Y¥ * 12& 83,808
oJls® 1,919,200 * 191 » 128 4,398,807
o E 2,328,000 = 3¥ » 128 83,808
SPNEE=ES] 2,273,000& * 1 ~ 128 27,276
Oa=3 2,026,181
odIZxY 24,314,164,000& * 1/12 2,026,181
02 =< 8,066,036 8,045,916 20,120
OzB224+Y 3,267,564
oA RLY
7,7653 * 1,014 = 32A12F = 123 3,023,505
o022 Y 19,9918 * 2% x 3652 14,594
ogdI2RE 58,837& * 39Y * 100 229,465
(@FSRLE=, 3,191,783
oIt FY 931,152
- B Xt
40,000& = 1,021 = 0.9 » 128 441,072
RIS
20,000& = 1,021 = 2.0 » 128 490,080
o AMEHSHHIE X 298,719
=&t 51,4003 * 1,021 % 0.2 = 43| 41,984
nEstD
419,090& * 1,021 = 0.15 = 43| 256,735
odMILEIZ
100,000& * 1,014Y * 12& 1,216,800
oLy
24.,726,100,000&¢ = 4.8% * 60/100 712,112
oRHIBRIALE 30,000& = 20 = 128 7,200
oQEARAY 20,040
=5 50,000& = 15 = 12& 9,000
€3 40,000& * 23" = 128 11,040
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= g3NE= A A
M AZ2SZHI(IA D) (IIEH/IIE
CHol: ol 2 oH|(S ) (=E R L
A2 .24 Z - BR(S) - NRAY - B 04 4t o e HIDE2
oS+ Z2RE 5,760
SR (o) 30,0002 = 16H * 123 5,760
OS=gef+dg 536,064
o)z R 68,280
- 52014 50,000& = 10 » 12& 6,000
6~ 30,0003 = 123% » 123 44,280
- 8=0lat 20,0002 = 759 + 123 18,000
oJlggR=Y JRt=s 19,200
JIAH 30,0002 * 208 * 123 7,200
AHA DAL 20,0003 = 50H + 123 12,000
ocHPAR G 80,0008 * 7& » 12& 6,720
oFg=satd =g 1,320
SIIOHME S 30,0008 * 2F « 123 720
SIIME R 15,0008 * 2F « 123 360
82 2elkt 10,0002 = 2% » 128 240
oNSASH L FHIYRP +2
40,0003 * 27 » 128 12,960
oMMARE 6,000
3=0l&t 50,000& = 10  12& 6,000
oA=& 20,0003 * 4% » 128 960
cRIAAR G 30,0003 = 247 = 128 88,920
oSHSZR=E 70,0008 * 297H » 123 249,480
oA 5,904
6=0]&t 40,0003 * 4% » 128 1,920
I 38,0008 = 5& « 123 2,280
8= 36,0008 = 3% » 123 1,296
= 34,0008 * 1€ ~ 12& 408
oXsg Itz 58,680
2SS H 240,000& » 17 ~ 128 48,960
FE3d 2l 270,000 * 3H » 12& 9,720
oAMIEXN LS+ 30,0008 « 49H 128 17,640
OZFHEAH 1,070,625
o UBhA 1,228,600& * 109 » 602 737,160
=JlsH 1,111,550& = 538 « 603 333,465
03 U248l 1,592,760 1,589,640 3,120
OFSErES 130,000& * 1,021 = 123 1,592,760
04 WSExH 1,572,480 1,589,640 A17,160
OFAZ(XZSAl ZHE8eI HE)
130,000& * 1,008 = 1228 1,572,480
05 EFIHI 2,431,424 2,399,957 31,467
OFSErES 24,314,233,000& * 1/12 * 120% 2,431,424
06 JHAHIXIZHI 4,060,477 4,007,927 52,550
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ro o2 g
JO 04 oA
Mo Ao =4

02 02 o

SN LA

oY W
_|

HI(&
(

=
=)

HH)(OIEHDJIE)
)

|
b

5]

[mn

Il

B GL(3) - RN - BAS ofl &t e HIDE2
A 24,314,233,000% * 0.167/12 = 12& 4,060,477
07 HJt=2 4| 1,384,485 666,655 717,830
R
24,920,726,000& * 1/12 = 1/30 » 20 1,384,485
Et M2 1,841,146 1,637,684 203,462
E=RES 1,597,571
Sl==r=1 2,001,800& = 35& 12 878,556
od2=g 878,556,000% * 0.9/12 65,892
cItEsg 33,600
- B A 40,0002 * 35 * 1.0 » 123 16,800
SIS 20,0008 * 35 * 2.0 « 12 16,800
oS¢ 14,254
= 51,400& * 35% * 0.35 * 43| 2,519
- 0SSt 419,000 * 35F * 0.2 * 43] 11,735
odllZ2EH 100,000 * 35% * 12& 42,000
od=A =8 2,400
g 40,0003 * 58 « 122 2,400
oAt
8,312& * 35 » 12A12F * 123 41,893
olt=2f+g
2,773 * 48 * BAIZ2t » 3656 32,366
ogdIdRyg 62,6152 * 58 » 83 25,986
o=cl= Y| 147,496
R =] 130,000& * 35& * 123 54,600
WS 22| 12,0008 * 359 » 122 5,040
- EEFOH
878,556,000& * 1/12 » 120% 87,856
oL E &l
878,556,0002 * 1/12 = 1/30 = 20& 48,809
o JHAHIXI 2l
878,556,0008 * 0.167/12 = 12& 146,719
oI =AY 65,100
el s 50,0008 = 35% « 12 21,000
g2 24| 105,000& * 35% * 123 44,100
Sl 7,0008 = 358 * 100 24,500
SRETsl 400,000& » 358 * 23 28,000
OHH 243,575
S 194,626
S HSA U 2,683,3703 « 28 x 123 64,401
CHSA Oe 2,840,250 « 28 » 123 68,166
CHSEE 2he 1,744,1208 + 28 « 128 41,859
- HefA Ot 1,683,330 * 18 » 123 20,200
cItEag 6,384
- BH A 40,0008 * 78 = 0.9 » 122 3,024
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SIIF 20,0008 ~ 7€ % 2.0 ~ 128 3,360
oftHSHHIE X E 2,049
ES=1am) 51,400& *= 7Y x 0.2 * 43| 288
DNSsW 419,000 * 7Y = 0.15 * 43| 1,761
o HAMHF A 130,000& » 7€ » 128 10,920
SLBIEINE]
194,626,000& * 1/12 * 70/100 = 1/30 ;o] 4,542
o X EXH]| 9,660
- HA UZ 250,000& * 19 = 12& 3,000
- HE O 2 155,000 * 29 = 128 3,720
- HE et2 140,000 * 198 » 12& 1,680
- HEA O 2 105,000 » 1€ = 128 1,260
NI RN
7,080& * BYH * 32A12F + 12& 13,594
o[f0IEEH| 50,000& * 3 = 12& 1,800
204 HFHAY| 2,249,940
01 MNEZSHRLHEH| 111,360
OAl & 650,000& * 1 128 7,800
OF A& 600,000& * 14 = 12& 7,200
O=2(42) 350,000 * 4% x 128 16,800
OL= 78,600
oi I A 100,000& = 30Y¥ 128 36,000
ocg.H.= 42,600
53 (0 150,000 * 21 » 128 37,800
=1 50,000& * 8H = 128 4,800
Oulgl 2=t 80,000& * 1¥ 128 960
28Xy 1,624,260
OAl & 650,000& * 14 = 12& 7,800
SAE 500,000& * 14 = 12& 6,000
O= &(43) 400,000& * 49 128 19,200
O53 250,000& * 529 128 156,000
O6= 155,000& * 215%™ » 12& 399,900
or= 140,000 * 233¥ = 128 391,440
0892 105,000 = 310¥ 128 390,600
OAHFAL 155,000& * 3Y 128 5,580
OXIEZ A} 155,000& * 1 128 1,860
ORI 155,000 * 6 » 128 11,160
OJlsr3 140,000 * 17¥ » 128 28,560
OJ1=s892 105,000& * 82H 128 103,320
OJls102 95,0008 * 864Y 128 98,040
Ogd63 155,000 * 1€ » 128 1,860
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ogdra 140,000& » 1 * 123 1,680
OEgds2 105,000& » 1 » 122 1,260
SdgF-de st 514,320 511,800 2,520
OBNELE SR (52010H)
80,0002 » 8% = 122 7,680
OMsdds2d 81,600
oAlZ2&(55015t) 100,0008 * 37 = 12& 44,400
og.%H.5(630I3H)
100,000& * 31 » 123 37,200
Ooulatgdg=22(53016t)
150,000& » 7& = 123 12,600
OYRELB2(630/3})
50,0002 » 38 = 122 1,800
O=A=I| 2 YT 28 (HLY620I5t)
100,000& » 3% * 12& 3,600
O&Mg g2 (63015t)
50,0002 » 48 = 122 2,400
OHESENESRA(630I51)
100,000& » 1 * 122 1,200
O3RELNSPA(520151)
60,000& * 2% « 122 1,440
O3 AA %L RS2 (620I51)
50,0002 * 1098 = 123 6,000
OougsHl(28 & Ad262015t)
50,0003 = 660 = 12 396,000
eI 24| 4,740 4,740 0
elsE2a 4,740 4,740 0
203 gR=8| 4,740 4,740 0
04 RASIARETIY| 4,740 4,740 0
OFRNEEgRFA 3095,000& * 123 4,740
F==l]l 29,728 31,800 A2,072
Jl=2dhl 29,728 31,800 A2,072
201 &er=gll 15,160 15,000 160
01 ArZ2tcIbl 15,160 15,000 160
Odet=ZH| 15,160
cHIMNFES 7 200,000& * 12& 2,400
oY EH ~22Z HY 100,000& * 122 1,200
=Jlet =88l 4,000,000& * 14 4,000
Sl 7,0008 = 308 = 3¢ ~ 123 7,560
1] 14,568 16,800 N2,232
=0l 14,568 16,800 N2,232
O JI=g 280l 14,568,000& = 14 14,568
S(EHM)(Lers3ay/Leey) 907,500 937,000 229,500
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311 AL S0lAretet 82,500 112,000 /29,500
06 JIEtXIA SO0l Atatet 82,500 112,000 /29,500
OAEAL &= XS 0IXH99H)
16,500,000 * 14 16,500
OAIEAL &= X2 01XH2001H)
66,000,000& * 14 66,000
601 A== dE 825,000 825,000 0
06 JIEt=sUXIE =S a & 825,000 825,000 0
OAEA 8= X3 JFS('PEE)
275,000,000& * 14] 275,000
OANEA 8= I3 FS(2001E %)
550,000,000& * 14 550,000
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CESI(BM) - HIRAE - BaS Ofl &t 24 St HImE2
na=s 2,000 2,500 A500
O=7d J2as=538Uel Al
2,000,000& = 14 2,000
A EH UM 603, 122 462,100 141,022
201 Ler2 | 63,000 20,000 43,000
02 E3=23Hl 63,000 20,000 43,000
OAlZ23d 63,000
cHY I LAYl mAl2e
5,250,000& = 12 63,000
F =l 540,122 442,100 98,022
LS EFSHI 540,122 442,100 98,022
OYIEFE IREFY  1,222,0008 » 290TH 354,380
OLE=Z=H ¢ 1,500,000& = 7UH 10,500
O&¥2stu=d ZRH +
1,222,000& = 21CH 25,662
OZgH+Y 1,010,000& = 50CH 50,500
OAZEON 2 99,080,000 * 14| 99,080
HEES L3t 90,000 41,000 49,000
INFES 90,000 41,000 49,000
90,000 41,000 49,000
90,000,000 * 14! 90,000
5,100 5,580 2480
3,600 4,080 2480
o 3,600 4,080 2480
OFEs=d 60,0002 * 4% * 153 3,600
gR=2 1,500 1,500 0
INES Bt s| 1,500 1,500 0
OYEstAIHF 1,500,000& = 14 1,500
st =& 142,985 217,328 AT4,343
= 33,000
= 9,900
Al 100,085
d=2350t2 28X 47,650 52,368 AN4,718
201 &er=gll 42,650 47,368 A4,718
01 At 4,000 8,000 24,000
o=2d 4,000
o3 tus ZAtE
* 5 x 23| * I 4,000
SS&8 32,650 33,368 AT18
o=z 11,100
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BHX A= SN HESAD
BNYUY AU (YT DHY/YBHT)
NEHES =& CERE
- _ - &4
CRA B SR(S) - MRAY - A Ofl &t 24 St HImE2
od=23ls 2l 2=
95,0008 = 524 ~ 123 5,700
odE3ltE 35248l 5,400,0008 * 14| 5,400
OA2 &8I =X 21,550
od23ls 2= |AE+
37,100,000 * 10% » 544 18,550
od2alts §E24dH FHIFX
600,000& * 5JHA 3,000
03 gAr=4d| 6,000 6,000 0
OZ235t0ts A= 1,200,000& = 54 6,000
301 LEtE N3 5,000 5,000 0
10 HAIMHIE2 &= 5,000 5,000 0
OF =230t =Uus & BAIF
100,000 * 10 = 52 5,000
230t 222N 29 77,500 77,500 0
= 33,000
= 9,900
Al 34,600
307 2lz2told 77,500 77,500 0
= 33,000
= 9,900
Al 34,600
02 2IAHBHEL 77,500 77,500 0
OFE0E Z2 I8 2ALA |54
66,000,0002 * 14 66,000
= 33,000
< 9,900
Al 23,100
OFLBsiots T2l S (AIHIFI)
11,500,000 = 14 11,500
J20IEANE 28 9,945 8,400 1,545
201 &er=gll 9,945 8,400 1,545
02 s&=4| 9,945 8,400 1,545
O=32= & MAl 8,085
o5Hs FE0IEAME 3ds
35,0008 * 21002 * 11 8,085
OAlE EHIR Al 1,860
os58s F2018AIE EBI=AlbI
1,860,000& = 14 1,860
HBEATA AEHZA 1,890 2,000 A110
201 e 1,890 2,000 A110
02 E3=23Hl 1,890 2,000 A110
OAlE EHIR Al 1,890
SANEHZA ASIIEEl RAE+
27,000,000& * 7% 1,890
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A= BBNAR SN HESAD
M MAN YUY HYASHLDDHT /LS E)
SR TEaE (e @
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
NFEE 292| 6,000 4,060 1,940
202 o4l 6,000 4,060 1,940
01 =UW0bl 6,000 4,060 1,940
OXNGZEs =& ol
100,000& * 4 = 153 6,000
HYHDG =& 530,403 394,040 136,363
= 60,170
Al 470,233
ANZREEs ZSYRAAEIRS 157,142 150,522 6,620
= 60,170
Al 96,972
201 223 157,142 150,522 6,620
= 60,170
Al 96,972
01 AtR2elt| 157,142 150,522 6,620
OZSIIEANAE RS 2lA=
150,420,000& * 14 150,420
= 60,170
Al 90,250
OBEIPAAHTE 2/AR QA2 (ABIEI})
6,722,000& » 14 6,722
HEHR MHIA2 st 271,408 161,915 109,493
201 LEr23H| 156,408 146,915 9,493
02 32| 156,408 146,915 9,493
(OZNF=FSi=IE=IN]] 156,408
CADHHHRAIAY SN 24
3,800,000& * 12& 45,600
ANZEESESSIIBAA"” RAZ+
3,850,000& * 128 46,200
cRFM MIEEX EEX A
225,000& * 4004 9,000
cHMUEZMREANAHE SANE
2,257,000& ~ 128 27,084
SXMNUEMEZ DY (HCIASHN)RRE S
2,377,000& * 123 28,524
405 XHatF SHI 115,000 15,000 100,000
01 ML =SESFH=HI 115,000 15,000 100,000
OANZRESIIBAIAE 522
25,000,000 = 14! 25,000
OXLUAMAAERH SHAL2(ERESIIEX)
20,000,000 = 14| 20,000
ONN2MAAE MEOAIFY
15,000,000& » 14 15,000
OSEMSAIAE 2= 55,000,000 * 14! 55,000
QIHUIAIAR 2H 97,353 76,203 21,150




BN 2= B
SNNYHY AU USSHE/LLAT)
HHHL5 =3 (SHol: & 2)
- _ - &4
SA - HB . CR(3) - MRAY - BES St HImE2
201 e 97,353 76,203 21,150
01 At 2t2Ibl 3,834 4,510 A676
OgeragH| 3,834
COIEUABHE NEFB0ISE
120,000& * 12& 1,440
CTHOSE RX442 29,0008 * 1294 348
CEHITHUSE RNL2E
25,0003 = 9K 225
oftZUHUFA 8 165,000 * 9K 1,485
28 Ehg =2 28,0008 * 120H 336
3224l 93,519 71,693 21,826
Os=2= & MAl 39,831
oEDAOIEY FMR
3,319,220 = 18l&d » 122 39,831
OAEEHI =X 53,688
cEHEAH FXNE+ 261,000& 128 3,132
SQHUWAIAR R+
2,875,000 = 12 34,500
oEHOIA RAIE==Hl 1,338,000& * 12& 16,056
HEZE 2IZH 4,500 5,400 A900
Gl 4,500 5,400 A900
=L H 4,500 5,400 A900
OgddEat=a O4Hl 100,000& » 5% * 93 4,500
g 29 & 7= 786,422 819,797 A33,375
e =24 680,051 629,937 50,114
2et=gl| 680,051 629,937 50,114
SS24H 680,051 629,937 50,114
Os52= & MAl 680,051
o= HYHSY AIEE 600,000& * 122 7,200
ogBtdat 1793l d 16,000,000&* 123 192,000
ocZitdst Sxds 203
83,0008 ~ 12 9%
o Al&kSH 2t B S AR003] & (2 BHS Bt ADSL
) 70,0002 * 1852 & 12,950
oxlE SHIMg 6,833,340 = 12 82,001
oAgA & SHS T/0-2803d &
6,660,000 = 12 79,920
oMZ3|H DATA-232I6 2
4,500,000& * 12 54,000
oNE3IH EOSY AL & SHS 20318d=
12,950,000& = 12 155,400
oADSL-562l 82 2,700,000& = 12 32,400
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o Al&toh 2+E SHIIDATA baldd =
500,000& * 52| 2,500
oMSALEZ 2,000,000& = 12 24,000
oK=UEE ALZE(8214)
700,000& * 123 8,400
019U E SIS BE-EHI
ANEZ 46,0002 * 123 552
oddat 210 AAEE  250,000& * 12 3,000
oAJI0I20IE & 28 RULSAER
400,500& » 12 4,806
oMM Z2E &z (184) 6,0008 * 128 72
cAHEE 2IAAHS(EDNOIBE
4,500& * 12 54
SMBAHAIRA 2ld& 50,0008 = 12 600
oHlXE AIEZ 1,600,000& = 12 19,200
SHATIH| S 9,500 31,500 A22,000
401 AlZHIZL LY 8,000 10,000 A2,000
01 AlZHI 8,000 10,000 22,000
OAISR TR0 HE FLISAAIE 01N
8,000,000 * 14| 8,000
405 XHabH =8| 1,500 21,500 220,000
01 T ESF S 1,500 21,500 /20,000
OslEE| == 500,000& * 3CH 1,500
SAEH FA2c 92,371 116,600 NN24,229
201 Ler=a| 92,371 116,600 NN24,229
01 AtR2tcIbl 600 600 0
Odit=EHl 600
o24&=gA =2 100,000& * 604 * 13 600
02 E3=23Hl 91,771 116,000 NN24,229
OAlE EHIR Al 91,771
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oRUHSLEH RXE=
31,771,000& * 14 31,771
CHASHEY RXES
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01 =UHALI 4,500 5,760 A1,260
OFESUYIFL oy
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NESR T WEE SN SHSYTLRKEY|S
HE: SHSUW 2XI|Y HY(SALBL/HS)
Rl WK 290 =4 (eto: &)
.24 HB - G9(S) - ARAY - BES ofl &t e HIDE2
SH=sERRA=HH 92,056 111,650 A19,594
SHSEEH RADIL (2L 22/HF) 80,770 96,780 216,010
Hal=xl 2/ =4 80,770 96,780 216,010
Hal=x 222 H=t 72,120 92,960 A20,840
201 &er=gll 32,120 32,660 540
01 ArZ2tcIbl 1,620 2,160 540
O=sgl 1,620
cYRLs A
5,000 * 38 » 9 = 123 1,620
03 gAr=4d| 30,500 30,500 0
Ol =2 & 150,000& * 5074 £ 7,500
Oel=3l M 500& * 2,0009 * 105 10,000
OAE QHM=E NH(SE S)
300& * 1,000 * 105 3,000
oJ1832 M 5,000& = 10004 » 105 5,000
OAH A SXtE 500,000 » 2CH = 53 5,000
301 eet2a=s 10,000 10,000 0
10 HAIMHI2 &= 10,000 10,000 0
OBAEAT AHIRA
5,000& = 100& * 202 10,000
307 2lz2told 30,000 50,000 /20,000
04 QI2FSHALE & 30,000 50,000 /20,000
O24S dAHUE) Ex 10,000,000 = 32l 30,000
Hal=Xl S2EAY 2334 8,650 3,820 4,830
202 O4Hl 7,150 3,820 3,330
01 =UWoHI 7,150 3,820 3,330
OFQ8At B4 82 08 7,150,0008 * 14| 7,150
203 R4l 1,500 0 1,500
03 AIFXE =AY 1,500 0 1,500
OSH=sHAHRGER=A 125,000& * 122 1,500
HY2LZH(SHSELKXEHIL) (OIEH/DIE 11,286 14,870 A3,584
ey =gl 1,200 1,200 0
el =gl 1,200 1,200 0
203 EF =4I 1,200 1,200 0
04 FA2IER=I 1,200 1,200 0
ORN2EdRFA 100,000& * 12& 1,200
Jl=38Hl 10,086 13,670 A3,584
Jl=2dhl 10,086 13,670 A3,584
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